
Part Number: V-JPOT-6-HDBOX-1H
Description: Trunkbox
Fitment: 2006-2007 Victory Vegas Jackpot
Revision: 1

Tools Required Parts List
6mm Hex Key (allen head wrench)
5/32 Hex Key
3/32 Hex Key
5/8 Open Wrench
9/16 Open Wrench

1  #A00928 Left upper mounting bracket
1  #A00929 Right upper mounting bracket
1  #A00930 Lower bracket 
6  m8 x m20 Chrome button head Allen screws
6  5/16” Chrome flat washers
2  1/4” x 20 x 3/4” Chrome button head Allen screws
2  1/4” x 20 Chrome flat washers
2  3/8” x 16 x 3/4” Chrome button head Allen screws
1  #A00931 Trunk mounting bracket
4  m8 x m70 Chrome button head Allen screws
2  m8 x m50 Chrome button head Allen screws
6 1/4” x 20 x 1” Chrome button head Allen screws
6  5/16” Chrome flat washers
6  1/4” x 20 Chrome flat washers

NOTE: We recommend the use of Loctite® or other threadlock
material when assembling parts on your motorcycle. 

1.  Remove stock fender strut bolts, using a 6mm hex key 
(discard bolts). Be sure to hang onto the fender strut so it doesn't fall
and scratch your bike.  (Figure 1)

2.  Install Corbin upper bag mount bracket onto the fender strut,
using the supplied 5/16” chrome flat washer and m8 x m70 chrome
button head Allen screws. Use Loctite® and tighten to 12 ft. lbs.

NOTE: If you are not installing Corbin’s saddlebags use the 
supplied 3/8” x 16 x 3/4” Chrome button head Allen screws and 
m8 x m50 Chrome button head Allen screws to cover up the lower
mounting holes on the bag mounting bracket. Use Loctite®.

3.  Repeat this procedure on other side.

4.  Install the trunk mounting bracket to the upper bag mount
brackets with three bolts on each side. Use the m8 x m20 chrome

button head bolts with a 5/16” flat washer on each. (Figure 2)

5.  Line up the six holes on the trunk to the holes on the mounting
bracket.  Secure with the supplied 1/4 x 20 x 1” button head Allen
screws, lock washer and flat washer (Figure 3). Tighten to 6 ft. lbs.

Questions? Give us a holler...

800-223-4332
tech@corbin.com

FIG. 1

FIG. 2

FIG. 3


